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3. Define :- 4
(a) Equivalent conductivity
(b) Molar Conductivity
gRATRT B —

(31) geaT®d daTeTddl
(d) "R Ardwdr

OR (3121a1)

Write monomer of :
(a) Neoprene

(b) Orlon

(c) Merlon

Uhad ford:—
C)REEIVIE]
CEIEGIE
(|) W=l

What do you mean by viscosity and viscosity
index of lubricants. 4
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2019(Even)
Time : 172 Hrs. Sem - I /11

App. Sc. (Chem)
Full Marks : 35

Pass Marks : 14

Answer all 10 questions from Group A, each question
carries 1 marks.
gu-A ¥ afl 10 731 @ SR <, IAP U &1 91 1352 |
Answer all Three questions from Group B, each question

carries 4 marks.
gu-B @ aft 9 gl @& SR T, UAS U T 4 4306 2|

Answer all two questions from Group C, each question

carries 6.5 marks.

7u-C 4 wft <1 7o) @ SR <, UAS U BT 91 65305 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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(vii) 3MLH ©Tg H HeRoT fvy ux grar 27

(ix)

(ix)

(x)

(@1 ders W
() TS W
(&) |9 W)
(@) ®1g =

In saline water corrosion.
(a) Increases

(b) Decreases

(c) Both

(d) None

@RI YT G1E0T S gfhar
(1) set @

@) wedt 2

(&) <=

(?) ®1g =

When graphite is dispersed in oil it is called.
(a) Oil dag

(b) Water dag

(c) Blended oil

(d) None

N2016

(i)

(iii)

(iii)

(iv)

3 1602103/1601203/P1602103

fr=tifed § ®rdw @ "9 fead g
=l

(31) eotar olEr

(@) s

(¥) foear et

(|) »ig €

The conductivity of 0.12 N solution of Nacl
is 0.024 Ohm’' , cm'l, Molar conductivity
of solution in Ohm'l, cmz, mol is.

(a) 200

(b) 100

(c) 400

(d) None

0.12 N Nacl faeras &1 arai®dar 0.024
gfasns ufa @ 2 | #ieR ara®dar &1
A= gfar a9 9o 9, ufa gears 9
foaar shm?

(31) 200

(€) 100

(w|) 400

(®) Ig €l

What weight of Cr (52) is deposited when
three faraday of electricity is passed through
solution of Cr,(So,);.
(a) 52 gm
(b) 26 gm
(c) 104 gm
(d) None
P.T.O
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OR (312raT) OR (3721aT)

What is the difference between emf and potential What is the difference between emf and potential
difference? difference?

fagga aes 9a R favaiar & @r iav 2| faga aes Ia R favaiar 4 @1 A 2 |

GROUP -C GROUP -C

Answer all Two Questions. 65x2=13

Il g yzAl & SN ¢ |

5. How iron is extracted from Red haematite ore?

Answer all Two Questions. 65x2=13
ft qF Tl & SR T

5. How iron is extracted from Red haematite ore?

Explain heat treatment of steel.
(a) Annealing
(b) Quenching

IS BHICISC 3AEH A gl &I fshyor &3
forar SIaT 8?7 ST BT dr9d B ArEdr o |
(31) qrareias

() =fra=

OR (312141)
The resistance of a wire is 10 Ohm. It is streched

such that its radius becomes half. Calculate new
resistance.

AR &1 YfeRieg 10 39 2| AR @l 39 YR
=t T fe Brear ser 8 mar | Tar gfoxie
&l |9 b |

P.T.O

Explain heat treatment of steel.
(a) Annealing
(b) Quenching

IS BHICISC 3EH A dlgl &1 frsayor &3
fpar SITdr 8?7 ST T A9 & ATAT DR |
(31) qrarias

(@) =fra=

OR (312141)
The resistance of a wire is 10 Ohm. It is streched

such that its radius becomes half. Calculate new
resistance.

dR &1 yfeRieg 10 39 2| dR @l 39 UPR
a1 Tar f& f3rear smem 8 w3 | Tar gfaRie
&1 919 forard |

P.T.O



P

|3 221b 90 blk 1& H R

N 10°0=[+3v] ayge w100=[_nD]
bin Y7+ N) <« Syr+1)

Llely Juo & lkqiiyie B

1109 9%°( ST [[99 91 JO H JO sanjeA oY,

W 10°0=[+3v]puew 100 =[_nD ] uoym
8yC+ D« 8yr+n)

"Torjoeal [[99 Ay} JO Juwo 3yl aje[naje)

(lpkEE)AO

| R kiRKLE 1 Lhp DRp) 12 Pro
Dbjlth ®ild bid blb |d Lhp Dhp|
$9
‘Sunedonoddrd yo uonedrjdde umop AuAL “spuadop
Surrerdonod[d YoIym uo SI10308) Y} AIB JBYA

9

€01T091d/€0TTO9T/€01T091T (1] 9102N

P

|2 221k 90 blk 1& F RR

N 10°0=[+3V] ae w10 0=[_nD]
bln 3yZ+ Nn) <« Sy7+n)

Rloly jub @ lkdgiille B

1109 9%°( ST [[99 9} JO H JO sanjeA oy,

W 100 =[+3v]puew 190 =[_nD ] uoym
8yC+ NnD <« 8Vr+1n)

“uorjoeal [[99 Ay} JO Jud 3yl ae[naje)

(lpkIE)AO

| R} kiRKLE 1& Lhp DRp) 12 e

DRJlish $Ale L@ i |® Lhp Py
<9

‘Sunerdono[d yo uonedrjdde umop A\ “spuadop
Sunedonod[d yorym uo SI10308} ) AIB JBYA\

910IN (1]

9

€01T091d/€0TT09T/€01T091T



	1: PAGE 08 - 1
	2: PAGE 2 - 07
	3: PAGE 06 - 3
	4: PAGE 4 -05
	5: PAGE 09 - 09
	6: PAGE 10 - 10

